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he table below lists two types of hearing loss. Using the in the above diagram, indicate

which structure(s) is / are most likely to be defective in €ach Case (2 marks)

Tvype of hearing loss Structure

'

X | Damage tg sensory hair cells

Failure of sound conduction




Good

Many candidates gave only C or D as the answer



Ludwig van Beethoven, a famous 18" century composer, suffered from type Y heaning loss in h

20s and became deaf in his 40s. Some records say that he could hear music through his jawbone

and skull by biting on a metal rod attached to his piano. Based on the structures and functions of

human ears, complete the following flow chart to show the major s

|

hearing music

of the met:

v Al
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transmission through bones to reach (1

(1v)

generation and transmission of nerve impulses thr

ml:!['r:m{.-_nz: at the sensory arca of the cere

teps involved in his method of
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(4 marks)

1! rod

vibrations (1)

oval window { cochlea

(i) lymph [fwd]1)

auditory nerve (1)

movement by sensory hair cells

orum






Good
Many candidates wrongly spelt the word cochlea.

Many candidates did not know that vibrations would
set the fluid inside the cochlea in motion.

Some mixed up sensory neurons with auditory nerve



The elycemic Index (GI) is an indication of the effect of food on the blood glucose level, The higher the
ezl ic W (L31) 18 am I e - [ :

&I value of a food, the quicker is the rise in blood glucose level. The graph below shows the changes in

the blood glucose level of a healthy individual after consuming the same quantity of a low GI or high Gl

meal over a period of three hours:
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!Jc'ﬁ-:rl:"l how the consumption of a meal |I:1L5!~' to an increase in the blood glucose level. {2 marks)

Mams the key hormone which lowers the blood ghicose level, {1 mark)

:]x“i-.'l'i:'-l how this hormone lowers the blood glucose ley L-I,I (3 marks)

Om the graph on the opposite page (page 107}, sketch a curve to show the change in the level
of this key hormone in response to the consumption of a high GI meal by the healthy person,
b y
(2 marks)

Explain why diabetic patients should consumf low GI meals (2 marks)




digestion of foods contamng carbohydrates to form glucose|(1)
absorption of glucose from thg small intestine|into the blood (1)

msulin®* (1)

1t

stimulates

the body cells and liver cells to take up more glucose from

b

ood (1)

Increases respration m body cells to consume glucose (1)
1t stmulates the conversion of glucose to glycogen by the liver / mmscle
cells (1)

has mtial basal value and drops back to basal value at the end (1), effect
lags behind (1)

low GI food

will lead to small fluctuations mn blood glucose level (1)
the chance of having too hugh blood glucose level / glucose appearng mn unne
15 reduced (1)
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Satisfactory

The answers of some candidates often lacked some
key informatione.g. digestion without mentioning
glucose, absorption without mentioning small
Intestine
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Fair

Candidates often gave incomplete or|inaccurate
descriptions of the functions of insulin.

Many candidates wrongly stated that insulin
converted glucose to glycogen. In fact, it binds to
the receptors of target cells and stimulates the
uptake of glucose from blood.
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Poor

Many candidates focused their discussion on

the undesirable outcomes of consuming high Gl

meal

but failed to point out the pros of consuming

low Gl meals
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Sharon was told that she might be breathing out carbon dioxide containing carbon which was once a part

of the body of a di ur, buried underground for millions of ye:
uIme

dioxidg in Sharon’s breath (11 matks)




(A) How the carbon atom was released from dinosaur to the atmosphere (max 1
mark)
the dead body of the dinosaur mught be

decomposed by microorgansisms fo form carbon dioxide contaiming the carbon atom

1)

ﬁ_v. J
tumed mto a portion of fossil fuels, wiuch 1s then released as carbon dioxide to the

atmosphere by combustion [1)




(B) The cvcling of the carbon atom before reaching Sharon (max 3 marks)
the carbon dioxide contaming the carbon atom was used by plant§ i photosynthesis

1)

and converted to organic matter (1)
the carbon passed on to consumers by feeding the plants / passeq along the food chamn

(1)
the carbon atom mn the biomass of these orgamisms would be released to the
atmosphere byjrespiration / decomposition|1)

this cycle repeated until the carbon atom finally reached Sharon
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11. Poor performance. The question was structured as two parts:
(1) The carbon atom released from dinosaur AND carbon cycle
(2) Sharon obtained the carbon atom AND the carbon atom inside

her body

(1) Poor performance.| Many candidates wrote a lengthy
description of the formation of fossil fuels| Most candidates
simply recited the details of the carbon cycle without gearing
their answers to include the dinosaur and Sharon.



s form. Critera for |
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Sharon was told that she might be breathing out carbon dioxide containing carbon which was once a part

of the body of a dinosaur, buried underground for millions of year: pur biological knowledge
' ble for the carbo |

(11 marks)




(C) How Sharon obmined the c:n'bon atom (max 2 mnrl-:s'
Sharon obtained the
the food containing the Larb on 1tom was

1%

f
La)

Shnrm breathes m fhe carbon dioxide contamng the carbon atom and breathes out

{ )

Lea)




(D) What happened inside Sharon’s body (max 2 marks)
the absorbed food contaimming the carbon atom travels along)the circulatory systemj(1)
and 1s taken up by body cells fory respiration|(1)

to form carbon dioixde (1)
the carbon d hon atom fravels along the circulatory system to
the lungs fog gas & (1)




17”‘«6] &d’ Palinad e SWVV”

Oln pf f/VV\:f I ov 0”\/!? V\np\// p @vvoi/l/}}b C e bow
f

kgfﬂ‘u’oi 'LVJ_ P[&vwf A~ o"”?""‘fﬂ/ Iy be ‘flfa/v\\_{-f%m&! vt p

bw“? jOL .5)’\0\""”‘/\-

Dvorving Imp%wp?ml, Jhaviva Dyl Ao (o (i

Wt W) & ovgom it Conlpovr 1o e (2png LT T (M

(/E’HW Ob btabed Aoy, CUV (S \eeleadtol fu~

;ff?ﬁ%ﬁﬁm\p} AlYion.  _aud  Erely LylLle ™M replvpYion. .




11. Poor performance. The question was structured as two parts

(1) The carbon atom released from dinosaur AND carbon cycle

(2) Sharon obtamed the carbon atom AND the carbon atom mside
her body

(2) Poor |performance.

Candidates usually forgot to give the details of the journey of the
carbon inside her body. They seldom mentioned the roles of the
circulatory system in the transport of absorbed food and the
transport of carbon dioxide to the lungs for excretion.



Candidates were generally weak in selecting relevant
Information|( to paraphrase the knowledge to meet the
requirements stated in the questionand and relate the
knowledge to the given scenario )

They were also weak in organizing their ideas' ( to address
the flow of the carbon atom in different forms ).
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